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4.6 Taking Sides
A Practice Understanding Task

Joaquin and Serena work together productively in their math
class. They both contribute their thinking and when they disagree, they both give their reasons
and decide together who is right. In their math class right now, they are working on inequalities.
Recently they had a discussion that went something like this:

See if you can
try #1 and come
up with an
explanation!
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Joaquin: The problem says that “6 less than a number is greater than 4. | think that we should
just follow the words and writ 4.

Serena: |don’t think kecquse if n is 20 and you do 6 less than that you get 20 - 6 = 14.

Joaquin: Oh, you're right. Then it makes sense that the solution will be n > 10, which means we
can choose any number greater than 10.

Below are a few more of the conversations that Joaquin and Serena had. Read through each one and decide which one
is correct, which one is wrong and explain what you are thinking for each problem.
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1. The inequality to graph is x = =7.

Joaquin thinks that the graph should have an open dot
at7.

Serenathinksthat the graph should have a closed dot
at-7.

Explain who's correct andw

SeRara e itis=-+o.

2. The problemis 3x + 1> 0

Serenasaysthe problem s aiwaystrue because
multiplying a number by 3 and then adding 1 to it
makesit greaterthan 0.

15 she rigt? Explain why or why not.
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3. Theword problemis “4 greaterthan x.”

Joaquinsays that they should write 4 > x.

Serenasays that they should write 4 + x.

Explain who's correct and why.

SeRore > L o0 W 4’*\692@/

fegive




image3.png
4. _Joaquin has this amazing idea about inequalities and equations.
[ s =t then t=a5 747 45 + 47 <t then <85 747
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7. erenais checkingher workwith Joaquinand finds that they disagree. Here s what serenay
“ax
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